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<?xml version="1.0"7>
<run>

<input>
<number 1d=""temperature*>
<units>K</units>
<min>0K</min>
<max>500K</max>
<default>300K</default>

</number>
<number 1d=""Ef*“>
<units>eV</units>

<default>0eV</default>

</number>
</i1nput>
<output>
<curve 1d="f12'">.</curve>
</output>
</run>

4

tool.xml

_ ~UNNINg produces a arivertie

-

<?xml version="1.0"?>
<run>

<input>
<number 1d=""temperature*>
<units>K</units>
<min>0K</min>
<max>500K</max>
<default>300K</default>
<current>77K</current>

</number>
<number 1d=""Ef*“>
<units>eV</units>

<default>0eV</default>
<current>200meV</current>
</number>
</input>
<output>
<curve 1d="f12'">.</curve>
</output>
</run>
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<?xml version="1.0"7>
<run>

<input>
<number 1d=""temperature*>..
<current>77K</current>
</number>
<number 1d="Ef*“>..
<current>200meV</current>
</number>
</input>
<output>
<curve 1d="f12“>
<about>..

</curve>
</output>
</run>
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run12703129102.xml

<?xml version="1.0"?>
<run>

<input>
<number 1d=""temperature*>..
<current>77K</current>
</number>
<number 1d="Ef*“>..
<current>200meV</current>
</number>
</input>
<output>
<curve 1d="f12“>
<about>..
<component>
<xy>0.999955 -0.25852
0.99995 -0.255935
0.999945 -0.25335..
</curve>
</output>
</run>
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<?xml version="1.0"?7>

A <run=>
< <tool>
<HML> \\\\\ <about>Press Simulate to view results.</about>
—_— <command>python @tool/ferml py @drlver</command>
7 </tool> '
<input>
tool.xml
python /fermi._py
A\
/
import Rappture
Import sys
from math import *
4 N\
Rappture 10 = Rappture.library( )
i%%i}i Tstr = 10.get(" input.number(temperature).current®)
Efstr = 1o.get("input.number(Ef).current”)

4

10.put("output.curve(fl2).component.xy", Xxydata)

Rappture.result(io)
sys.exit()
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<?xml version="1_.0""7>

<run>
< > input
< id="' "> -number (temperature)
< >300K</current> .current
</number>
AL </input>
— < > output
I < 1d= > -curve(fl2)
| | < > -component
tool.xm <xy>2.102 6.454 _Xy
Rappture
£ Tstr = i1o.get("input.number(temperature).current®)
Efstr = 1o.get("input.number(Ef).current®)

Your Program
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10.put(Coutput.curve(fl2) . component.xy®, Xxydata)
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% wget

Unpack and run:

% tar xvzf ex2.tgz
% cd ex2

% rappture
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Create a “driver” file by hand:
% cp tool.xml driver.xml
% gedit driver.xml

Copy/paste each
<default> value

And fill in a
<current> value

Run it by hand:

_4driver.xml (~/bootcamp2011/solutions/ex2)
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@| driver.xm| 3f|

<?xml version="1.0"?>
<run=
<tool=
=title=Rappture Tutorial -
an integer value.</about=
<command=tclsh @tool/main.tcl @driver</
=/tool=
<inputs
<integer id="w1"
=about=
<label=Add this</label=
parformed by this tool.</description=
</about=
<default=0</default=

<current=2</current
</integer>
<integer id="v2"=
=zabout=

<label=To this</label=

=description=First value (v1) in the

Assignment #2</title=
<about=This simple tool adds or subtracts two integers and produces

command:=

"vl + v2" computation

Ln 15, Caol 1
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% tclsh main.tcl driver.xml

Now, edit <command> in the tool .xml to make the tool run properly
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